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SECTION A (1mark questions) 

Q.1.  If sin θ = cos θ, find the value of θ. 

Q.2.  If cos A = 
7

25
 , find the value of tan A + cot A. 

Q.3.  If x = a sin θ and y = a cos θ then find the value of x² + y² 

Q.4. 

 
Find the value of 

sinθ

√1− sin2θ
. 

Q.5. 
If cos θ = 

2

3
 , then find the value of 2 sec2θ + 2 tan2θ – 7. 

Q.6. If tan (3x – 15°) = 1 then find the value of x. 

Q.7. 
Find the value of  

1−cos 60⁰

sin60⁰
 

Q.8. Evaluate: 

sin² 60⁰ + 2 tan 45⁰ – cos² 30⁰ 

Q.9. If sin x + cos y = 1; x = 30⁰ and y is an acute angle, find the value of y. 

Q.10. In ∆ABC, right angled at B, AB = 5 cm and sin C = 
1

2
. Find the length of side AC. 

SECTION B (2 marks questions) 

Q.11. Prove that (sin 𝛼 + cos 𝛼) (tan 𝛼  + cot 𝛼) = sec 𝛼  + cosec 𝛼 

Q.12. 
Prove that: √

1−cosA

1+cosA
 = cosec A -cot A 

Q.13 Find A and B, if sin (A + 2B) = 
√3

2
 and cos (A +B) = 

1

2
              

Q.14 If √3 sinθ − cosθ = 0 and 0⁰< θ < 90⁰, find the value of 𝜃. 

Q.15 In a ∆ABC right angled at B, the ratio of AB to AC is 1:√2. Find the value of 
2𝑡𝑎𝑛𝐴

1+ 𝑡𝑎𝑛2𝐴
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SECTION C (3mark questions) 

Q.16. If tan θ  + sin θ  = m, tan θ  – sin θ  = n then show that m² – n² = 4 √mn. 

Q.17. If cos 𝜃 + sin 𝜃 = √2cos 𝜃, show that cos 𝜃 – sin 𝜃 = √2 sin 𝜃. 

Q.18. 
Evaluate: 4 - 

sin300+tan450−cosec60⁰

sec300+cos600+cot 45⁰
 

Q.19. 
If 4tan𝜃=3, evaluate 

4sinθ−cosθ+1

4sinθ+cosθ−1
 . 

Q.20. 1

secA−1
  + 

1

secA +1
 = 2cosec A cot A 

SECTION D (5 marks questions) 

Q.21. Prove that: 

tanθ

1−tanθ
 - 

cotθ

1−cotθ
= 

cosθ+sinθ

cosθ−sinθ
 

Q.22. Prove that: 2 (𝑐𝑜𝑠6θ + 𝑠𝑖𝑛6θ) – 3 (𝑠𝑖𝑛4θ  + 𝑐𝑜𝑠4θ) + 1 = 0 

Q.23. Prove that: 

sinθ

cotθ+cosecθ
 = 2 +

sinθ

cotθ−cosecθ
 

Q.24 Prove that 𝑠𝑖𝑛8𝜃 −  𝑐𝑜𝑠8𝜃 = (1 −  2𝑐𝑜𝑠2𝜃)(1 − 2𝑠𝑖𝑛2𝜃𝑐𝑜𝑠2𝜃  

Q.25 In ∆𝐴𝐵𝐶 right angled at B, BC =7 cm and AC – AB = 1 cm. Find the value of cos A + sin A. 

Answers 

A
n

sw
er

s 

1 45⁰ 2 
625

168
 3. a² 4 tan𝜃 

5 0 6 20⁰ 7 2 - √3 8 2 

9 
1

2
 10 10 cm 13 A=60⁰, B=0 14 30⁰ 

15 1 18. 
1 + 24√3

11
 19. 

13

11
 25 

31

25
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